Whitman College
Econ 407
Exam 1
October 10, 1997




Write all answers in your blue book. Show all of your work.





1. (a) (10pts) Define fiat money.

(b) (15pts) Briefly describe the history of fiat money in the U.S.





2. Consider the following information about the amount of goods produced and their prices in a hypothetical economy.

	Good
	Quantity 1995
	Price 1995
	Quantity 1996
	Price 1996

	Sweater
	50
	$20
	60
	$18

	Umbrellas
	30
	10
	20
	14

	Watermellons
	1000
	1
	1000
	1

	Tractors
	10
	10,000
	11
	10,500

	
	
	
	
	




Suppose the typical family in this economy bought 5 sweaters, 100 watermelons and 3 umbrellas in 1995.



(a) (10pts) Calculate the Consumer Price Index (CPI) in 1995 and in 1996. Assume 1995 is the base year.

(b) (5pts) Find the inflation rate between 1995 and 1996 using the CPI.

(c) (10pts) Calculate the Gross Domestic Product (GDP) Deflator in 1995 and 1996. Assume 1995 is the base year.

(d) (5pts) Find the inflation rate between 1995 and 1996 using the GDP deflator.





3. Consider the following yield curve for U.S. government treasury debt, and answer the questions below.
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(a) (10pts) What is the price of a just-issued government Treasury bill which matures three years from now, has a face value of $10,000, and makes no coupon payments?

(b) (5pts) List the assumptions of the Liquidity Premium theory of the term structure of interests rates.


For parts (c) and (d) below, suppose the assumptions of the Liquidity Premium theory of the term structure of interests rates hold.

(c) (10pts) If market participants expect that interest rates will remain unchanged for the next 50 years, then what annual percent liquidity premium do savers require for purchasing a ten-year Treasury note? Explain your work.

(d) (20pts) Suppose now that, contrary to part (c) above, savers require the liquidity premium schedule given in the table below. Forecast the nominal interest rate on a two-year Treasury bill offered for sale three years from now.


	Term to maturity
	Liquidity premium (in percent per year)

	3 months
	0

	6 months
	0.05 (i.e. 1/20th of a percent per year)

	1 year
	0.10

	2 years
	0.40

	3 years
	0.45

	5 years
	0.50

	10 years
	0.70

	30 years
	0.80


